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NEW QUESTION 1
In which normal form is a table, if it has no multi-valued attributes and no partial dependencies?

A. second normal form
B. first normal form

C. third normal form
D. fourth normal form

Answer: A

Explanation:
References:
https://blog.udemy.com/database-normal-forms/

NEW QUESTION 2

Evaluate the following SQL statements that are issued in the given order:

CREATE TABLE emp

(emp_no NUMBER(2) CONSTRAINT emp_emp_no_pk PRIMARY KEY, ename VARCHAR2(15),
salary NUMBER (8,2),

mgr_no NUMBER(2) CONSTRAINT emp_mgr_fk REFERENCES emp(emp_no)); ALTER TABLE emp
DISABLE CONSTRAINT emp_emp_no_pk CASCADE; ALTER TABLE emp

ENABLE CONSTRAINT emp_emp_no_pk;

What would be the status of the foreign key EMP_MGR_PK?

A. It would remain disabled and can be enabled only by dropping the foreign key constraint and recreating it.
B. It would remain disabled and has to be enabled manually using the ALTER TABLE command.

C. It would be automatically enabled and immediate.

D. It would be automatically enabled and deferred.

Answer: B

NEW QUESTION 3
View the Exhibit and examine the structure of the EMPLOYEES and JOB_HISTORY tables. (Choose all that apply.)

HR ENTS LOCATIONS
Nama Null? Type Name Null?
DEPARTRENT ID NOT NULL [NUMBER(L)
DEPARTMENT_NAME | NOT NULL ] VARCHAR2(30) STREET_ADDRESS VARCHAR2(40)
MANAGER 1D NUMBER(E [POSTAL CODE VARCHARZ(12) |
CITY NOT NULL | VARCHARZ{30)
H STATE PROVINCE VARCHARZ{2S)
I ,}\ COUNTRY_ID CHAR(Z)
Name Nuil? Type Name N7 Type -
EMPLOYEE ID NOTNULL | NUMBER(S) | = = of EMPLOYEE_ID NOT NULL |NUMBER(E) | Table COUNTRIES
START DATE NOT NULL | DATE FIRST_MAME VARCHARZ{20) Mame Null? Type
END_DATE NOTNULL | DATE LAST_NAME NOT NULL | VARCHARZ[25) = COUNTRY_ID NOT NULL | CHAR{Z)
EMAIL NOT NULL |VARCHAR2(2S) COUNTRY_NAME VARCHARZ{40)
DEPARTMENT_ID NUMBER(4) PHOME NUMBER VARCHARZ(20) | REGION_ID NUMBER
HIRE_DATE NOT NULL | DATE = \'I/
SALARY NUMBER(S 2} :
T e e v (R
| MANAGER 10 HUMBERG)
Nama Null? Type
m DEPARTMENT_ID NUMBER(4) | REGION_ID NOT NULL | NUMBER4)
HUMBER([S, REGION_MAME Wi RCHAR2{40)
MAX_SALARY NUMBER[S) -

Examine this query which must select the employee IDs of all the employees who have held the job SA_MAN at any time during their employment.
SELECT EMPLOYEE_ID FROM EMPLOYEES WHERE JOB_ID ='SA_MAN'

SELECT EMPLOYEE_ID FROM JOB_HISTORY WHERE JOB_ID ='SA_MAN’;

Choose two correct SET operators which would cause the query to return the desired result.

A. UNION
B. MINUS
C. INTERSECT
D. UNION ALL

Answer: AD

NEW QUESTION 4
View the Exhibit and examine the details of the PRODUCT_INFORMATION table.
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PRODUCT _NAME CATEGORY ID
Inkjet C/8/HQ
Inkjet C/4
LaserPro b00/B/BEW
LaserPro 1200/8/8W
Inkjet BB
Industrial 700/HD
Industrial 600/DQ
Compact 400/LQ
Compact 400/DQ
HD 12GB /R
HD 10GB /
HD 12GEB @7200 /SE
HD 18.2GB @10000 /E
HD 18.2GB@10000 /1
HD 18GB /SE
HD BGB A
HD 8.2GB @5400

13

SUPPLIER_ID

You have the requirement to display PRODUCT_NAME and LIST_PRICE from the table where the CATEGORYJD column has values 12 or 13, and the

SUPPLIER_ID column has the value 102088. You executed the following SQL statement:
SELECT product_name, list_price FROM product_information

WHERE (category_id = 12 AND category_id = 13) AND supplier_id = 102088; Which statement is true regarding the execution of the query?

A. It would not execute because the entire WHERE clause is not enclosed within parentheses.

B. It would execute but would return no rows.

C. It would not execute because the same column has been used twice with the AND logical operator.
D. It would execute and return the desired.

Answer: B

NEW QUESTION 5

You must display details of all users whose username contains the string 'ch_'. (Choose the best answer.) Which query generates the required output?

A. SELECT * FROM users Where user_name LIKE '%ch_";

B. SELECT * FROM usersWhere user_name LIKE '%ch_%'ESCAPE'%';
C. SELECT * FROM users Where user_name LIKE 'ch\_ %' ESCAPE ' ;
D. SELECT * FROM users Where user_name LIKE '%ch\_%' ESCAPE '\

Answer: B

NEW QUESTION 6
Which two statements are true regarding constraints?

A. A foreign key column cannot contain null values.

B. A column with the UNIQUE constraint can contain null values.

C. A constraint is enforced only for INSERT operation on the table.

D. A constraint can be disabled even if the constraint column contains data.
E. All constraints can be defined at the column level and at the table level.

Answer: BD

NEW QUESTION 7
View the Exhibit and examine the structure of ORDERS and ORDER_ITEMS tables.

ORDER_ID is the primary key in the ORDERS table. It is also the foreign key in the ORDER_ITEMS table wherein it is created with the ON DELETE CASCADE

option.
Which DELETE statement would execute successfully?

Your Partner of IT Exam

visit - https://www.exambible.com



We recommend you to try the PREMIUM 1Z0-071 Dumps From Exambible
exam blbk—.‘ https://www.exambible.com/1Z0-071-exam/ (187 Q&AS)

Table CUSTOMERS
Tirps
 NUMBERM)
CUST_FIRST_NAME  INOT NULL | VARCHARZ(2D)
CUST LAST NAME NOT NULL | WARCHARI(20]
[VATHLOCAL TIME ZONE UsT_ CUST ADORESS TYP
HARZ(] ==d PHONE_NUMBERS PHONE_LIST_TYP
NLE_LANGUAGE VIARCHAR(3)
NUMBERLZ) [NCS_ TR TORY VARCHARZ(30)
NUMBER(B.T) CREDIT _LIsAIT NUMBERM 1)
} L Wi
NUMBER®D) | ACCOUNT_MGR_ID NUMBERM] |
CUST GEO_LOCATION MDEYE 800 GEOMETHY
TH DATE
MARITAL_STATUS VARC HARZ(30)
[ GENGER VARCHARI(1)
WARCHARZ{
£ NUMBER(1)
WARMANTY _PERIOD INTE VAL YEAR(T)
TOMONTH
(SUPPLIER_ID NUMBER(S)
PRODUCT STATUS VAR HAR0)
LIST_PRICE NUMBER(B.I)
(WiN_PHOCE WM
CATALDG_UAL WARCHARIIS0)

SYS XMLTYPE
VARCHARI[S)

Lo
MDSYS SD0_GEOMETRY]

A. DELETE orders o, order_items IWHERE o.order_id = i.order_id;

B. DELETEFROM ordersWHERE (SELECT order_idFROM order_items);
C. DELETE ordersWHERE order_total < 1000;

D. DELETE order_idFROM ordersWHERE order_total < 1000;

Answer: B

NEW QUESTION 8

The BOOKS_TRANSACTIONS table exists in your schema in this database.

You execute this SQL statement when connected to your schema in your database instance. SQL> SELECT * FROM books_transactions ORDER BY 3;
What is the result?

A. The execution fails unless the numeral 3 in the ORDER BY clause is replaced by a column name.

B. All table rows are displayed sorted in ascending order of the values in the third column.

C. The first three rows in the table are displayed in the order that they are stored.

D. Only the three rows with the lowest values in the key column are displayed in the order that they are stored.

Answer: B

NEW QUESTION 9

You want to display 5 percent of the rows from the SALES table for products with the lowest AMOUNT_SOLD and also want to include the rows that have the
same AMOUNT _SOLD even if this causes the output to exceed 5 percent of the rows.

Which query will provide the required result?

A. SELECT prod_id, cust_id, amount_soldFROM salesORDER BY amount_soldFETCH FIRST 5 PERCENT ROWS WITH TIES;

B. SELECT prod_id, cust_id, amount_soldFROM salesORDER BY amount_soldFETCH FIRST 5 PERCENT ROWS ONLY WITH TIES;
C. SELECT prod_id, cust_id, amount_soldFROM salesORDER BY amount_soldFETCH FIRST 5 PERCENT ROWS WITH TIES ONLY;
D. SELECT prod_id, cust_id, amount_soldFROM salesORDER BY amount_soldFETCH FIRST 5 PERCENT ROWS ONLY;

Answer: A

NEW QUESTION 10

Which statement is true regarding the UNION operator?

A. By default, the output is not sorted.

B. Null values are not ignored during duplicate checking.

C. Names of all columns must be identical across all select statements.

D. The number of columns selected in all select statements need not be the same.
Answer: B

NEW QUESTION 10
View the Exhibit and examine the structure of the ORDERS table.
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Tabie CUSTOMERS

Tirpee
NUMBERIS)

CUST_FIRST NAME IOt NuLL | vaRCHAR2(2D)
TUST LAST NAME _ [NOT NULL

UsT CUST ADDRESS TYP
[FHONE_NUMBERS PHONE_LIST_TYP
NLE_LANGUAGE VARCHARZ(3}
(NS TERATORY VARC HARZ(30)
CREDIT_LIMIT NUMBE RS )

L

ACCOUNT_MGR_ID NUMBE )
CUST_GEO_LOCATION MDSYE 500 GEOWETHY

TH DATE
[ _STATUS VAR HARD 30)
[ GENGER VARCHARI(1)
[INCOME_LEVEL VARCHARZ{ 70

PRODUCT_NAME
PRODUCT DESCRIPTION

ottt d ¢ s
CATEQORY 1D

VARRANTY PERIOD

SUPFLIER_ID
PRODUCT BTATUS

SYS XMLTYPE
VARCHARI[S)

NUMBERG)
MDSYS SDO_GEOMETRY]

Which UPDATE statement is valid?

A. UPDATE ordersSET order_date = '12-mar-2007’,order_total IS NULLWHERE order_id = 2455;

B. UPDATE ordersSET order_date ='12-mar-2007',AND order_total = TO_NUMBER(NULL)WHERE order_id = 2455;

C. UPDATE ordersSET order_date ='12-mar-2007’,order_total = NULLWHERE order_id = 2455;

D. UPDATE ordersSET order_date = TO_DATE('12-mar-2007’,’dd-mon-yyyy’),SET order_total = TO_NUMBER (NULL)WHERE order_id = 2455;

Answer: C

NEW QUESTION 15
View the exhibit and examine the description of the PRODUCT_INFORMATION table.

e ST
i
"
oy

J:';_'_. Vi GE0_LOE - —1 _-_.q_:_:__._.__-

Which SQL statement would retrieve from the table the number of products having LIST_PRICE as NULL?

A. SELECT COUNT (DISTINCT list_price)FROM product_informationWHERE list_price is NULL
B. SELECT COUNT (NVL(list_price, 0))FROM product_informationWHERE list_price is NULL
C. SELECT COUNT (list_price)FROM product_informationWHERE list_price i= NULL

D. SELECT COUNT (list_price)FROM product_informationWHERE list_price is NULL

Answer: B

NEW QUESTION 17

Examine the create table statements for the stores and sales tables.

SQL> CREATE TABLE stores(store_id NUMBER(4) CONSTRAINT store_id_pk PRIMARY KEY, store_name VARCHAR2(12), store_address VARCHAR2(20),
start_date DATE);

SQL> CREATE TABLE sales(sales_id NUMBER(4) CONSTRAINT sales_id_pk PRIMARY KEY, item_id NUMBER(4), quantity NUMBER(10), sales_date DATE,
store_id NUMBER(4), CONSTRAINT store_id_fk FOREIGN KEY (store_id) REFERENCES stores(store_id));

You executed the following statement: SQL> DELETE from stores

WHERE store_id=900;

The statement fails due to the integrity constraint error:

ORA-02292: integrity constraint (HR.STORE_ID_FK) violated

Which three options ensure that the statement will execute successfully?

A. Disable the primary key in the STORES table.

B. Use CASCADE keyword with DELETE statement.
C. DELETE the rows with STORE_ID = 900 from the SALES table and then delete rows from STORES table.
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D. Disable the FOREIGN KEY in SALES table and then delete the rows.
E. Create the foreign key in the SALES table on SALES_ID column with on DELETE CASCADE option.

Answer: CDE

NEW QUESTION 22

Which three arithmetic operations can be performed on a column by using a SQL function that is built into Oracle database? (Choose three.)

A. Finding the lowest value
B. Finding the quotient

C. Raising to a power

D. Subtraction

E. Addition

Answer: ACE

NEW QUESTION 27

On your Oracle 12c database, you invoked SQL *Loader to load data into the EMPLOYEES table in the HR schema by issuing the following command:

$> sglldr hr/hr@pdb table=employees
Which two statements are true regarding the command?

A. It succeeds with default settings if the EMPLOYEES table belonging to HR is already defined in the database.
B. It fails because no SQL *Loader data file location is specified.

C. It fails if the HR user does not have the CREATE ANY DIRECTORY privilege.

D. It fails because no SQL *Loader control file location is specified.

Answer: AC

NEW QUESTION 32
Which three SQL statements would display the value 1890.55 as $1,890.55? (Choose three.)

A. SELECT TO_CHAR (1890.55, '$99G999D00") FROM DUAL
B. SELECT TO_CHAR (1890.55, '$9,999V99') FROM DUAL;

C. SELECT TO_CHAR (1890.55, '$0G000D00") FROM DUAL;
D. SELECT TO_CHAR (1890.55, '$99,999D99') FROM DUAL;
E. SELECT TO_CHAR (1890.55, '$99G999D99') FROM DUAL

Answer: ACE

NEW QUESTION 34
Which statement is true about transactions?

A. A set of Data Manipulation Language (DML) statements executed in a sequence ending with a SAVEPOINT forms a single transaction.

B. Each Data Definition Language (DDL) statement executed forms a single transaction.
C. A set of DDL statements executed in a sequence ending with a COMMIT forms a single transaction.

D. A combination of DDL and DML statements executed in a sequence ending with a COMMIT forms a single transaction.

Answer: B

Explanation:
References:
https://docs.oracle.com/database/121/CNCPT/transact. htm#CNCPT038

NEW QUESTION 37
Which two statements are true regarding the EXISTS operator used in the correlated subqueries? (Choose two.)

A. The outer query stops evaluating the result set of the inner query when the first value is found.
B. It is used to test whether the values retrieved by the inner query exist in the result of the outer query.
C. It is used to test whether the values retrieved by the outer query exist in the result set of the inner query.

D. The outer query continues evaluating the result set of the inner query until all the values in the result set are processed.

Answer: AC

Explanation:
References:
http://www.techonthenet.com/oracle/exists.php

NEW QUESTION 40
Which three statements are true regarding the data types?

A. The minimum column width that can be specified for a VARCHAR?Z2 data type column is one.

B. Only one LONG column can be used per table.

C. ATIMESTAMP data type column stores only time values with fractional seconds.

D. The BLOB data type column is used to store binary data in an operating system file.

E. The value for a CHAR data type column is blank-padded to the maximum defined column width.
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Answer: ABE

NEW QUESTION 44
Which three tasks can be performed using SQL functions built into Oracle Database?

A. displaying a date in a nondefault format

B. finding the number of characters in an expression

C. substituting a character string in a text expression with a specified string

D. combining more than two columns or expressions into a single column in the output

Answer: ABC

NEW QUESTION 48

Examine the business rule:

Each student can work on multiple projects and each project can have multiple students.

You need to design an Entity Relationship Model (ERD) for optimal data storage and allow for generating reports in this format:
STUDENT_ID FIRST_NAME LAST_NAME PROJECT_ID PROJECT_NAME PROJECT_TASK

Which two statements are true in this scenario?

A. The ERD must have a 1:M relationship between the STUDENTS and PROJECTS entities.

B. The ERD must have a M:M relationship between the STUDENTS and PROJECTS entities that must be resolved into 1:M relationships.

C. STUDENT_ID must be the primary key in the STUDENTS entity and foreign key in the PROJECTS entity.

D. PROJECT_ID must be the primary key in the PROJECTS entity and foreign key in the STUDENTS entity.

E. An associative table must be created with a composite key of STUDENT _ID and PROJECT _ID, which is the foreign key linked to the STUDENTS and
PROJECTS entities.

Answer: BE

Explanation:
References:
http://www.oracle.com/technetwork/issue-archive/2011/11-nov/061sql-512018.html

NEW QUESTION 50
Which two statement are true regarding table joins available in the Oracle Database server? (Choose two.)

A. You can use the ON clause to specify multiple conditions while joining tables.
B. You can explicitly provide the join condition with a NATURAL JOIN.

C. You can use the JOIN clause to join only two tables.

D. You can use the USING clause to join tables on more than one column.

Answer: AD

NEW QUESTION 52
View the Exhibit and examine the structure of the PORDUCT_INFORMATION table. (Choose the best answer.)
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PRODUCT_ID column is the primary key. You create an index using this command: SQL > CREATE INDEX upper_name_idx
ON product_information(UPPER(product_name));
No other indexes exist on the PRODUCT_INFORMATION table. Which query would use the UPPER_NAME_IDX index?

A. SELECT product_id, UPPER(product_name)FROM product_informationWHERE UPPER(product_name) = 'LASERPROQ' OR list_price > 1000;

B. SELECT UPPER(product_name)FROM product_information;
C. SELECT UPPER(product_name)FROM product_informationWHERE product_id = 2254,
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D. SELECT product_idFROM product_informationWHERE UPPER(product_name) IN (‘(LASERPRO', 'CABLE");

Answer: D

NEW QUESTION 55

You need to display the date 11-oct-2007 in words as ‘Eleventh of October, Two Thousand Seven’. Which SQL statement would give the required result?

A. SELECT TO_CHAR (TO_DATE ('11-oct-2007’), ‘fmDdthsp “of” Month, Year)FROM DUAL

B. SELECT TO_CHAR (‘11-oct-2007’, ‘fmDdspth “of” Month, Year’)FROM DUAL

C. SELECT TO_CHAR (TO_DATE (‘11-0ct-2007"), ‘fmDdspth of month, year)FROM DUAL
D. SELECT TO_DATE (TO_CHAR ('11-0ct-2007"), ‘fmDdspth “of’ Month, Year’))FROM DUAL

Answer: C

NEW QUESTION 60

Examine the structure proposed for the TRANSACTIONS table:

Name
TRANS ID
CUST NAME

CUST STATUS

TRANS DATE

TRANS VALIDITY
CUST CREDIT VALUE

Null?

NOT NULL
NOT NULL
NOT NULL
NOT NULL

NUMBER (©)
VARCHARZ (20)
VARCHARZ
DATE

INTERVAL, DAY TO SECOND

NUMBER (10)

Which two statements are true regarding the storage of data in the above table structure? (Choose two.)

A. The CUST_CREDIT_VALUE column would allow storage of positive and negative integers.
B. The TRANS_VALIDITY column would allow storage of a time interval in days, hours, minutes, and seconds.

C. The CUST_STATUS column would allow storage of data up to the maximum VARCHAR?2 size of 4,000 characters.

D. The TRANS_DATE column would allow storage of dates only in the dd-mon-yyyy format.

Answer: AB

NEW QUESTION 61

Which three statements are true regarding the SQL WHERE and HAVING clauses?

A. The HAVING clause conditions can have aggregating functions.
B. The HAVING clause conditions can use aliases for the columns.

C. The WHERE and HAVING clauses cannot be used together in a SQL statement.

D. The WHERE clause is used to exclude rows before grouping data.
E. The HAVING clause is used to exclude one or more aggregated results after grouping data.

Answer: ADE

NEW QUESTION 65

Which three statements are true reading subquenes?

A. A Main query can have many subqueries.
B. A subquery can have more than one main query.

C. The subquery and main query must retrieve date from the same table.
D. The subquery and main query can retrieve data from different tables.
E. Only one column or expression can be compared between the subquery and main query.
F. Multiple columns or expressions can be compared between the subquery and main query.

Answer: ADF

NEW QUESTION 70

Which task can be performed by using a single Data Manipulation Language (DML) statement?

A. adding a column constraint when inserting a row into a table

B. adding a column with a default value when inserting a row into a table
C. removing all data only from one single column on which a unique constraint is defined
D. removing all data only from one single column on which a primary key constraint is defined

Answer: C

NEW QUESTION 75

View the Exhibit and examine PRODUCTS and ORDER_ITEMS tables.
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PRODUCTS
PRODUCT ID | PRODUCT NAME
1 Inkjet C/8/HO
2 CPU D300
3 HD 3GB /1
4 HD 12GB /R
ORDER ITEMS
ORDER ID | PRODUCT ID | QTY | UNIT PRICE
11 1 10 100
22 2 15 120
33 3 10 S0
44 1 5 10
66 2 20 125

You executed the following query to display PRODUCT_NAME and the number of times the product has been ordered:
SQL>SELECT p.product_name, i.item_cnt

FROM (SELECT product_id, COUNT (*) item_cnt FROM order_items

GROUP BY product_id) i RIGHT OUTER JOIN products p ON i.product_id = p.product_id;

What would happen when the above statement is executed?

A. The statement would execute successfully to produce the required output.

B. The statement would not execute because inline views and outer joins cannot be used together.

C. The statement would not execute because the ITEM_CNT alias cannot be displayed in the outer query.
D. The statement would not execute because the GROUP BY clause cannot be used in the inline.

Answer: A

NEW QUESTION 78
Which two partitioned table maintenance operations support asynchronous Global Index Maintenance in Oracle database 12c?

A. ALTER TABLE SPLIT PARTITION

B. ALTER TABLE MERGE PARTITION

C. ALTER TABLE TRUNCATE PARTITION
D. ALTER TABLE ADD PARTITION

E. ALTER TABLE DROP PARTITION

F. ALTER TABLE MOVE PARTITION

Answer: CE

NEW QUESTION 79

Evaluate the following SELECT statement and view the exhibit to examine its output:
SELECT constraint_name, constraint_type, search_condition, r_constraint_name, delete_rule, status, FROM user_constraints
WHERE table_name = 'ORDERS'; CONSTRAINT_NAME

CON SEARCH_CONDITION R_CONSTRAINT_NAME DELETE_RULE

STATUS ORDER_DATE_NN C

"ORDER_DATE" IS NOT NULL ENABLED ORDER_CUSTOMER_ID_NN C
"CUSTOMER_ID" IS NOT NULL ENABLED ORDER_MODE_LOV C

order _mode in (‘'direct’, ‘'online’) ENABLED

ORDER TOTAL MIN C

order total >= 0 ENABLED ORDER PK

P ENABLED

ORDERS CUSTOMER ID R

CUSTOMERS ID SET NULL ENABLED

ORDERS SALES REP R

EMP EMP ID SET NULL ENABLED

Which two statements are true about the output? (Choose two.)

A. The R_CONSTRAINT_NAME column gives the alternative name for the constraint.

B. In the second column, ‘c' indicates a check constraint.

C. The STATUS column indicates whether the table is currently in use.

D. The column DELETE_RULE decides the state of the related rows in the child table when the corresponding row is deleted from the parent table.

Answer: BD

NEW QUESTION 82
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Which two statements are true regarding multiple-row subqueries? (Choose two.)

A. They can contain group functions.

B. They always contain a subquery within a subquery.

C. They use the < ALL operator to imply less than the maximum.

D. They can be used to retrieve multiple rows from a single table only.

E. They should not be used with the NOT IN operator in the main query if NULL is likely to be a part of the result of the subquery.

Answer: AE

NEW QUESTION 84
Which three statements are true about multiple-row subqueries?

A. They can contain a subquery within a subquery.

B. They can return multiple columns as well as rows.

C. They cannot contain a subquery within a subquery.

D. They can return only one column but multiple rows.

E. They can contain group functions and GROUP BY and HAVING clauses.

F. They can contain group functions and the GROUP BY clause, but not the HAVING clause.

Answer: ABE

NEW QUESTION 88

You need to produce a report where each customer’s credit limit has been incremented by $1000. In the output, the customer’s last name should have the
heading Name and the incremented credit limit should be labeled New Credit Limit. The column headings should have only the first letter of each word in
uppercase.

Which statement would accomplish this requirement?

A. SELECT cust_last_name AS “Name”, cust_credit_limit + 1000AS “New Credit Limit’"FROM customers;

B. SELECT cust_last_name AS Name, cust_credit_limit + 1000AS New Credit LimitFROM customers;

C. SELECT cust_last_name AS Name, cust_credit_limit + 1000“New Credit Limit’FROM customers;

D. SELECT INITCAP (cust_last_name) “Name”, cust_credit_limit + 1000INITCAP (“NEW CREDIT LIMIT")FROM customers;

Answer: A

NEW QUESTION 93
Examine the structure of the ORDERS table: (Choose the best answer.)

NAME NULL TYPE
ORDER_ID NOT NULL NUMBER (12)
ORDER_DATE NOT NULL TIMESTAMP(6)
CUSTOMERS_ID NOT NULL NUMBER(6)
ORDER_STATUS NUMBER(2)
ORDER_TOTAL NUMBER(S, 2)

You want to find the total value of all the orders for each year and issue this command:
SQL> SELECT TO_CHAR(order_date,'rr"), SUM(order_total) FROM orders GROUP BY TO_CHAR(order_date, 'yyyy");
Which statement is true regarding the result?

A. It executes successfully but does not give the correct output.

B. It executes successfully but gives the correct output.

C. It returns an error because the TO_CHAR function is not valid.

D. It return an error because the datatype conversion in the SELECT list does not match the data type conversion in the GROUP BY clause.

Answer: D

NEW QUESTION 95

Sales data of a company is stored in two tables, SALES1 and SALES2, with some data being duplicated across the tables. You want to display the results from the
SALESL table, which are not present in the SALES?2 table.

SALESI1 table NameNullType

SALES_IDNUMBER STORE_IDNUMBER ITEMS_IDNUMBER QUANTITYNUMBER SALES_DATEDATE

SALES? table NameNullType

SALES_IDNUMBER STORE_IDNUMBER
ITEMS_IDNUMBER QUANTITYNUMBER SALES_DATEDATE

Which set operator generates the required output?

A. INTERSECT
B. UNION

C. PLUS

D. MINUS

E. SUBTRACT

Answer: D

Explanation:
References:
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https://docs.oracle.com/cd/B19306_01/server.102/b14200/queries004.htm

NEW QUESTION 98
Examine the structure of the BOOKS_TRANSACTIONS table:

e o et Null? Type
m::_:n % el o s s
BORROWED_DATE il
::E D g
m I VARCHAR2 (6)
9 VARCHAR? (6]

Examine the SQL statement:

"SQL> BELECT * FROM books transactions WHERE borrowed data<SYSDATE AND transaction types'kM' OR MEMBER m’g
: - = HM
("AL01°, 'A202') ; il

Which statement is true about the outcome?

A. It displays details only for members who have borrowed before today with RM as TRANSACTION_TYPE.

B. It displays details for members who have borrowed before today's date with either RM asTRANSACTION_TYPE or MEMBER_ID as A101 and A102.
C. It displays details for only members A101and A102 who have borrowed before today with RM as TRANSACTION_TYPE.

D. It displays details for members who have borrowed before today with RM as TRANSACTION_TYPE and the details for members A101 or A102.

Answer: A

NEW QUESTION 102
Which two statements are true regarding constraints? (Choose two.)

A. All constraints can be defined at the column level and at the table level.
B. A constraint can be disabled even if the constraint column contains data.
C. A column with the UNIQUE constraint can contain NULLS.

D. A foreign key column cannot contain NULLS.

E. A constraint is enforced only for INSERT operations.

Answer: BC

NEW QUESTION 103
View the Exhibit and examine the structure of the PROMOTIONS table.

Table PROMOTIONS

Name Null? Tvpe
PROMO_NAME NOT NULL VARCHAR2(30)
PROMO SUBCATEGORY NOT NULL VARCHAR2(30)
PROMO_SUBCATEGORY _ID NOT NULL NUMBER
PROMO _ CATEGORY NOT NULL VARCHAR2(30)
PROMO_CATEGORY_ID NOT NULL NUMBER
PROMO COST NOT NULL NUMBER(10,2)
PROMO BEGIN DATE NOT NULL DATE

PROMO END DATE NOT NULL DATE

Evaluate the following SQL statement:

SQL>SELECT promo name, CASE
WHEN promo_ cost >=(SELECT AVG(promo_cost)
FROM promotions
WHERE promo category='TV’)
THEN ‘HIGH'’
ELSE ‘LOW’
END COST REMARK
FROM promotions;
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Which statement is true regarding the outcome of the above query?

A. It produces an error because subqueries cannot be used with the CASE expression.
B. It shows COST_REMARK for all the promos in the promo category ‘TV'.

C. It shows COST_REMARK for all the promos in the table.

D. It produces an error because the subquery gives an error.

Answer: C

NEW QUESTION 108

View the Exhibit and examine the details of PRODUCT_INFORMATION table.
PRODUCT_NAME CATEGORY_ID SUPPLIER_ID
Inkjet C/8/HQ 12

102094

Inkjet C/4 12

102090

LaserPro 600/6/BW 12

102087

LaserPro 1200/8/BW 12

102099

Inkjet B/6 12

102096

Industrial 700/ID 12

102086

Industrial 600/DQ 12

102088

Compact 400/LQ 12

102087

Compact 400/DQ 12

102088

HD 12GB /R 13

102090

HD 10GB /I 13

102071

HD 12GB @7200 /SE 13

102057

HD 18.2GB @10000 /E 13

102078

HD 18.2GB @10000 /1 13

102050

HD 18GB /SE 13

102083

HD 6GB /I 13

102072

HD 8.2GB@5400 13

102093

You have the requirement to display PRODUCT_NAME from the table where the CATEGORY_ID column has values 12 or 13, and the SUPPLIER_ID column has
the value 102088. You executed the following SQL statement:
SELECT product_name FROM product_information
WHERE (category_id = 12 AND category_id = 13) AND supplier_id = 102088; Which statement is true regarding the execution of the query?

A. It would not execute because the same column has been used in both sides of the AND logical operator to form the condition.
B. It would not execute because the entire WHERE clause condition is not enclosed within the parentheses.

C. It would execute and the output would display the desired result.

D. It would execute but the output would return no rows.

Answer: D

NEW QUESTION 113
Examine the structure of the EMPLOYEES table. (Choose the best answer.)

Name Null? Type
EMPLOYEE 1D NOT NULL NUMBER(6)
FIRST NAME VARCHARZ (20)
LAST NAME NOT NULL VARCHARZ2 (25)
EMAIL NOT NULL VARCHARZ (25)
PHONE NUMBER VARCHAR2Z (20)
HIRE_ DATE NOT NULL DATE

JOB_ID NOT NULL VARCHARZ2 (10)
SALARY NUMBER (8, 2)
COMMISSION PCT NUMBER (2, 2)
MANAGER_ID NUMBER (6)
DEPARTMENT ID NUMBER (4)

You must display the details of employees who have manager with MANAGER_ID 100, who were hired in the past 6 months and who have salaries greater than
10000.
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A. SELECT last_name, hire_date, salaryFROM employeesWHERE salary > 10000UNION ALL SELECT last_name, hire_date, salaryFROM employeesWHERE
manager_ID = (SELECT employee_id FROM employees WHERE employee_id = 100)INETRSECTSELECT last_name, hire_date, salaryFROM employees
WHERE hire_date > SYSDATE- 180;

B. SELECT last_name, hire_date, salaryFROM employeesWHERE manager_id = (SELECT employee_id FROM employees WHERE employee_id = 100)UNION
ALL(SELECT last_name, hire_date, salaryFROM employeesWHERE hire_date > SYSDATE -180INTERSECTSELECT last_name, hire_date, salaryFROM
employeesWHERE salary > 10000);

C. SELECT last_name, hire_date, salaryFROM employeesWHERE manager_id = (SELECT employee_id FROM employees WHERE employee_id =
'"100Y)UNIONSELECT last_name, hire_date, salaryFROM employeesWHERE hire_date > SYSDATE -180INTERSECTSELECT last_name, hire_date, salaryFROM
employeesWHERE salary > 10000;

D. (SELECT last_name, hire_date, salaryFROM employeesWHERE salary > 10000UNION ALLSELECT last_name, hire_date, salaryFROM employeesWHERE
manager_ID = (SELECT employee_id FROM employees WHERE employee_id = 100))UNIONSELECT last_name, hire_date, salaryFROM employeesWHERE
hire_date > SYSDATE -180;

Answer: C

NEW QUESTION 116
Which three statements are true regarding single-row functions? (Choose three.)

A. The data type returned, can be different from the data type of the argument that is referenced.

B. They can return multiple values of more than one data type.

C. They can accept only one argument.

D. They can be nested up to only two levels.

E. They can be used in SELECT, WHERE, and ORDER BY clauses.

F. They can accept column names, expressions, variable names, or a user-supplied constants as arguments.

Answer: AEF

NEW QUESTION 120

View the exhibit and examine the structure of ORDERS and CUSTOMERS tables. ORDERS

Name Null? Type

ORDER_ID NOT NULL NUMBER(4) ORDER_DATE NOT NULL DATE ORDER_MODE VARCHAR2(8) CUSTOMER_ID NOT NULL NUMBER(6)
ORDER_TOTAL NUMBER(8, 2) CUSTOMERS

Name Null? Type

CUSTOMER_ID NOT NULL

NUMBER(6) CUST_FIRST_NAME NOT NULL VARCHAR2(20) CUST_LAST_NAME NOT NULL VARCHAR2(20) CREDIT_LIMIT NUMBER(9,2)
CUST_ADDRESS VARCHAR2(40)

Which INSERT statement should be used to add a row into the ORDERS table for the customer whose CUST_LAST NAME is Roberts and CREDIT_LIMIT is
600? Assume there exists only one row with CUST_LAST_NAME as Roberts and CREDIT_LIMIT as 600.

A. INSERT INTO (SELECT o.order_id, o.order_date, o.order_mode, c.customer_id, o.order_totalFROM orders o, customers cWHERE o.customer_id =
c.customer_id AND c.cust_last_name='Roberts' AND c.credit_limit=600)VALUES (1,'10-mar-2007', 'direct’, (SELECT customer_idFROM customersWHERE
cust_last name='Roberts' AND credit_limit=600), 1000);

B. INSERT INTO orders (order_id, order_date, order_mode,(SELECT customer idFROM customersWHERE cust_last_name='Roberts’ AND credit_limit=600),
order_total);VALUES (1,'10-mar-2007', 'direct’, &customer_id, 1000);

C. INSERT INTO ordersVALUES (1,'10-mar-2007', 'direct’,(SELECT customer_idFROM customersWHERE cust_last_name='Roberts' AND credit_limit=600),
1000);

D. INSERT INTO orders (order_id, order_date, order_mode,(SELECT customer_idFROM customersWHERE cust_last_name='Roberts’ AND credit_limit=600),
order_total);VALUES (1,'10-mar-2007', 'direct’, &customer _id, 1000);

Answer: C

NEW QUESTION 124
View the Exhibit and examine the structure of the EMP table which is not partitioned and not an index-organized table. (Choose two.)

EMP

Name Null? Tvpe

EMPNO NOT NULL NUMBER (4)
FIRST NAME VARCHAR?2 (20)
LAST NAME VARCHAR?
SALARY NUMBER (10, 2)
DEPTNO NUMBER (2)

Evaluate this SQL statement: ALTER TABLE emp
DROP COLUMN first_name; Which two statements are true?

A. The FIRST_NAME column can be dropped even if it is part of a composite PRIMARY KEY provided the CASCADE option is added to the SQL statement.
B. The FIRST_NAME column would be dropped provided at least one column remains in the table.

C. The FIRST_NAME column would be dropped provided it does not contain any data.

D. The drop of the FIRST_NAME column can be rolled back provided the SET UNUSED option is added to the SQL statement.

Answer: B
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NEW QUESTION 128
View the Exhibits and examine PRODUCTS and SALES tables. Exhibit 1

PROD >
PROD NAME NOT NULL VARCHAR? (50)

PROD_CATEGORY NOT NULL VARCHAR?2 (50)

PROD_UNIT OF MEASURE || VARCHARI G0 _

Exhibit 2

NOT NULL

You issue the following query to display product name the number of times the product has been sold:
SOL>SELECT p.prod name, 1.item cnt

FROM (SELECT prod id, COUNT(*) item cnt

Y prod 1d) I RIGHT OUTER JOIN

What happens when the above statement is executed?

A. The statement executes successfully and produces the required output.

B. The statement produces an error because a subquery in the FROM clause and outer-joins cannot be used together.
C. The statement produces an error because the GROUP BY clause cannot be used in a subquery in the FROM clause.
D. The statement produces an error because ITEM_CNT cannot be displayed in the outer query.

Answer: A

NEW QUESTION 130

Which statement is true about an inner join specified in the WHERE clause of a query?

A. It must have primary-key and foreign-key constraints defined on the columns used in the join condition.
B. It requires the column names to be the same in all tables used for the join conditions.

C. It is applicable for equijoin and nonequijoin conditions.

D. It is applicable for only equijoin conditions.

Answer: C

NEW QUESTION 135
View and Exhibit and examine the structure and data in the INVOICE table. (Choose two.)

Your Partner of IT Exam

visit - https://www.exambible.com



We recommend you to try the PREMIUM 1Z0-071 Dumps From Exambible
exambible https://www.exambible.com/120-071-exam/ (187 Q&As)

Name Null Twvpe

INV_NO NOTNULL NUMBER@)
INV_DATE DATE
INV_AMT NUMBER(10,2

Which two statements are true regarding data type conversion in query expressions?

A. inv_date = '15-february-2008' :uses implicit conversion

B. inv_amt ='0255982" : requires explicit conversion

C. inv_date >'01-02-2008' : uses implicit conversion

D. CONCAT(inv_amt, inv_date) : requires explicit conversion
E. inv_no BETWEEN '101' AND '110' : uses implicit conversion

Answer: AE

NEW QUESTION 137
View the Exhibit and examine the structure of the ORDERS table. The ORDER_ID column is the PRIMARY KEY in the ORDERS table.

Tabde
Tipes
houll? NUMBERIS) |
CUST FIRST MNAME NOT NULL | WA RC HARD I}
NOT NULL | TINESTAMPE) CUST LAST MAME NOT NULL
THLOCALTIMEZONE UST CUST ADDRESS TYP
] aad PHONE_NUMBERS PHONE _LIST_TYP
NLE_LANGUAGE WARCHARZ(3)
TE]] [WLS, TERTORY WARC
NUMBER(ET) CREDIT_LIMIT WUMBERM, 7)
NUMBER(®) L WARCHARZ(3) |
[mﬁl ACCOUNT_MGR_ID
CUST GEO_LOCATION] MOSYS S00_GEOMETRY
TH = DATE
WA STATUS VILRC AR 30}
[ GENDER | WVARCHARI(1)
(NCOME_LEVEL | VARCHARI( 20
PRODUCT DESCRIPTION WARE AR 2000)
CATEGORY_ID NUMBER(T)
(WEIGHT_CLASS WUMBER(1)
WIARHANTY _PERIOD INTERVALYEARCT)
TOMONTH
SUPPLIER_ID WUMBER{G
[PRODUCT_STATUS WRRC MA R0
LST PRaCE NUMBER(S T}
L. P . 59 Nuss
CATALDG_URL WRRCHAFCI$0)

e
SYS KMLTYPE

VARCHAR2(S)

NUMBER4) 2 |
WH_GED_LOCATION] MOSYL SD0_CEOMETHY]

Evaluate the following CREATE TABLE command:

CREATE TABLE new_orders(ord_id, ord_date DEFAULT SYSDATE, cus_id) AS
SELECT order_id.order_date,customer_id FROM orders;

Which statement is true regarding the above command?

A. The NEW_ODRDERS table would not get created because the DEFAULT value cannot be specified in the column definition.

B. The NEW_ODRDERS table would get created and only the NOT NULL constraint defined on the specified columns would be passed to the new table.

C. The NEW_ODRDERS table would not get created because the column names in the CREATE TABLE command and the SELECT clause do not match.

D. The NEW_ODRDERS table would get created and all the constraints defined on the specified columns in the ORDERS table would be passed to the new table.

Answer: B

NEW QUESTION 142
View the Exhibit and examine the structure of CUSTOMERS table.

Using the CUSTOMERS table, you need to generate a report that shows an increase in the credit limit by 15% for all customers. Customers whose credit limit has
not been entered should have the message "Not Available" displayed.
Which SQL statement would produce the required result?
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__-__,..-_ ....._r"

i‘.“-'l.lﬂ'-T Hﬂﬂ-'f HAI!E
CUST_LAST_NAME
CUST_GENDER
CUST_YEAR_OF_BIRTH NUMBER (4)
CUST_MARITIAL_STATUS VARCHAR2 (20)
CUST_STREET_ADDRESS VARCHARZ (40)
CUST_POSTAL_CODE \MRCHAR: {10)
CUST_CITY NOT

CUST_STATE_PROVINCE |ﬂfﬁ:ﬂﬂ!§:ﬂ:ﬁgﬂz"1nzrl
COUNTRY_ID._ I nornuci]e =, Ml

CUST INCOME LEVEL VARCHARZ {30)
CUST_CREDIT_LIMIT NUMBER
CUST_EMAIL | VARCHARZ (30

A. SELECT NVL (TO CHAR(cust_credit_limit * .15), 'Not Available’) "NEW CREDIT"FROM customers;
B. SELECT TO_CHAR (NVL(cust_credit_limit * .15), 'Not Available') "NEW CREDIT"FROM customers;
C. SELECT NVL(cust_credit_limit * .15), 'Not Available") "NEW CREDIT"FROM customers;

D. SELECT NVL(cust_credit_limit), ‘Not Available’) "NEW CREDIT"FROM customers;

Answer: A

NEW QUESTION 144
View the exhibit and examine the data in the PROJ_TASK_DETAILS table. (Choose the best answer.)

PROJ_TASK_DETAILS

TASK_ID BASED_ON TASK_IN_CHARGE TASK_START_DATE TASK_END_DATE

P01 KING 10-SEPT-07 12-SEPT-07
P02 PO1 KOCHAR 13-SEPT-07 14-SEPT-07
P03 GREEN 14-SEPT-07 18-SEPT-07
P04 P03 SCOTT 19-SEPT-07 20-SEPT-07

The PROJ_TASK_DETAILS table stores information about project tasks and the relation between them. The BASED_ON column indicates dependencies between
tasks.

Some tasks do not depend on the completion of other tasks.

You must generate a report listing all task IDs, the task ID of any task upon which it depends and the name of the employee in charge of the task upon which it
depends.

Which query would give the required result?

A. SELECT p.task_id, p.based_on, d.task_in_chargeFROM proj_task_details p JOIN proj_task_details dON (p.task_id = d.task_id);

B. SELECT p.task _id, p.based_on, d.task_in_chargeFROM proj_task_details p FULL OUTER JOIN proj_task_details dON (p.based_on = d.task_id);
C. SELECT p.task_id, p.based_on, d.task_in_chargeFROM proj_task_details p JOIN proj_task_details dON (p.based_on = d.task_id);

D. SELECT p.task_id, p.based_on, d.task_in_chargeFROM proj_task_details p LEFT OUTER JOIN proj_task_details dON (p.based_on = d.task_id);

Answer: D

NEW QUESTION 147
Examine the commands used to create DEPARTMENT_DETAILS and COURSE_DETAILS:

SQL>CREATE TABLE DEPARTMENT DETAILLS
(DEPARTMENT ID NUMBER PRIMARY KEY,

DEPRRTMENT_EHME VARCHARZ (50),

HOD VARCHARZ (50) ) ;

SQL>CREATE TABLE COURSE DETAILS

(COURSE ID NUMBER PRIMARY KEY,

COURSE NAME VARCHARZ (50),

DEPHRTHENT_ID NUMBER REFERENCES DEPARTMENT DETAILS

(DEPARTMENT 1ID));

You want to generate a report that shows all course IDs irrespective of whether they have corresponding department IDs or not but no department IDs if they do
not have any courses.
Which SQL statement must you use?

A. SELECT course_id, department_id, FROM department_details d RIGHT OUTER JOIN course_details ¢ USING (department_id)
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B. SELECT c.course_id, d.department_id FROM course_details ¢ RIGHT OUTER JOIN.department_details d ON (c.depatrment_id=d.department_id)
C. SELECT c.course_id, d.department_id FROM course_details ¢ FULL OUTER JOIN department_details d ON (c.department_id=

D. department_id)

E. SELECT c.course_id, d.department_id FROM course_details c FULL OUTER JOIN department_details d ON (c.department_id<>

F. department_id)

Answer: C

NEW QUESTION 151
Which two statements are true regarding the GROUP BY clause in a SQL statement? (Choose two.)

A. You can use column alias in the GROUP BY clause.

B. Using the WHERE clause after the GROUP BY clause excludes the rows after creating groups.

C. The GROUP BY clause is mandatory if you are using an aggregate function in the SELECT clause.
D. Using the WHERE clause before the GROUP BY clause excludes the rows before creating groups.

E. If the SELECT clause has an aggregate function, then those individual columns without an aggregate function in the SELECT clause should be included in the

GROUP BY cause.

Answer: DE

NEW QUESTION 154
Evaluate the following CREATE TABLE command:

CREATE TABLE order item
(order 1d NUMBER (3),
item-id NUMBER (2),
qty NUMBER (4),
CONSTRAINT ord itm id pk
PRIMARY KEY (order id, item id)
USING INDEX
(CREATE INDEX ord itm idx
ON order item (order id, item id))):

Which statement is true regarding the above SQL statement?

A. It would execute successfully and only ORD_ITM_IDX index would be created.
B. It would give an error because the USING INDEX clause cannot be used on a composite primary.

C. It would execute successfully and two indexes ORD_ITM_IDX and ORD_ITM_ID PK would be created.

D. It would give an error because the USING INDEX is not permitted in the CRETAE TABLE command.

Answer: A

NEW QUESTION 157
Which two statements are true regarding subqueries? (Choose two.)

A. A subquery can appear on either side of a comparison operator.

B. Only two subqueries can be placed at one level.

C. A subquery can retrieve zero or more rows.

D. A subquery can be used only in SQL query statements.

E. There is no limit on the number of subquery levels in the WHERE clause of a SELECT statement.

Answer: AC

NEW QUESTION 158
View the Exhibit and examine the description of the ORDERS table. (Choose two.)
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%ﬁlu_
CUST_FIRST NAME  INOT NULL | VARCHARZ(20)

NOT NULL [ TIMESTAMPS) CUST LAST NAME _ [NOT NULL | VARCHARZ(20)

€ CUST_ADORESS_TVP
[FHONE WUMBE S PHONE_LIST_TYP
NLE_LANGUAGE VARCHARZ()
[NLS_TEhoTORY VARCHARZ(30)

prrr e yrs
CREDIT LTy NUMBER{D 7)

_EMAIL VARCHARI(G) |
ACCOUNT_WGR_ID NUMBE g
CUST_GEO_LOCATION MDSYS.S00_GEOMETRY
%:$E l DATE
[ STA | WAREC HAR{30)

[ GENDER | WARCHARZ{1)
[NCOME_LEVEL | VARCHARI(T0

NUMBER(S)
MDSYS SDO_GEOMETRY]

Which two WHERE clause conditions demonstrate the correct usage of conversion functions?

A. WHERE Order_date_IN ( TO_DATE('OCT 21 2003', 'MON DD YYYY'), TO_CHAR(NOV 21 2003', 'MON DD YYYY"))
B. WHERE Order_date > TO_CHAR(ADD_MONTHS(SYSDATE, 6), 'MON DD YYYY")

C. WHERE TO_CHAR(Order_date, 'MON DD YYYY') = 'JAN 20 2003'

D. WHERE Order_date > ( TO_DATE('JUL 10 2006', 'MON DD YYYY’)

Answer: CD

NEW QUESTION 160
Which statement correctly grants a system privilege?

A. GRANT CREATE VIEWON tablel TOuser1;
B. GRANT ALTER TABLETO PUBLIC;

C. GRANT CREATE TABLETO userl, user2;
D. GRANT CREATE SESSIONTO ALL;

Answer: C

NEW QUESTION 164
See the Exhibit and examine the structure of the PROMOTIONS table:

PROMO_COST
PROMO_BEGIN DATE
PROMO_END DATE

Using the PROMOTIONS table,
you need to find out the average cost for all promos in the range $0-2000 and $2000-5000 in category A.
You issue the following SQL statements:
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SQL>SELECT AVG(CASE

WHEN promo_cost BETWEEN 0 AND 2000 AND promo_category="A'
THEN promo_cost
ELSE null END) "CAT_2000A",
AVG(CASE
WHEN promo_cost BETWEEN 2001 AND 5000 AND promo_category="A'
THEN promo_cost
ELSE null END) "CAT_5000A"
FROM promotions,

What would be the outcome?

A. It generates an error because multiple conditions cannot be specified for the WHEN clause.
B. It executes successfully and gives the required result.

C. It generates an error because CASE cannot be used with group functions.

D. It generates an error because NULL cannot be specified as a return value.

Answer: B

Explanation:

CASE Expression

Facilitates conditional inquiries by doing the work of an IF-THEN-ELSE statement:

CASE expr WHEN comparison_exprl THEN return_exprl [WHEN comparison_expr2 THEN return_expr2
WHEN comparison_exprn THEN return_exprn ELSE else_expr]

END

NEW QUESTION 169
Which statement is true about Data Manipulation Language (DML)?

A. DML automatically disables foreign ley constraints when modifying primary key values in the parent table.

B. Each DML statement forms a transaction by default.

C. A transaction can consist of one or more DML statements.

D. DML disables foreign key constraints when deleting primary key values in the parent table, only when the ON DELETE CASCADE option is set for the foreign
key constraint.

Answer: C

NEW QUESTION 174
Which statement is true regarding external tables?

A. The CREATE TABLE AS SELECT statement can be used to upload data into regular table in the database from an external table.
B. The data and metadata for an external table are stored outside the database.

C. The default REJECT LIMIT for external tables is UNLIMITED.

D. ORACLE_LOADER and ORACLE_DATAPUMP have exactly the same functionality when used with an external table.

Answer: A
Explanation:

References:
https://docs.oracle.com/cd/B28359 01/server.111/b28310/tables013.htm

NEW QUESTION 175
View the Exhibit and examine the structure of ORDERS and CUSTOMERS tables. (Choose the best answer.)
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e
B Tipee
I NUMBERGE)
CUST_FRST NAME  [noT NuLL | vARCHARZ(I9)
CUST _LAST NANE _ [NOT NULL | VARCHAR2(2)
[CUST ADDHESS CUST_ADORESS_TYP
= ud PHONE_NUMBERS PHONE_LIST_TYP
NLE_LANGUAGE VARCHARZ(3}
Taky VARIC HARZ{ 30)
CREDIT_ LI NUMBER.7)
L WARC HARD(30)
ACCOUNT MGR_ID
CUST GEO_LOCATION MDEYSE 800 GEOWETHY
DATE
ILRRC HARE] 1)
VAR HARI1)
VARC ™
PRODUCT_NAME —
[FRODULCT_DESC P TioN
CATEGORY 10
VARIANTY PERIOOD
[SUFPLIER_ID
ml"_l'l'lﬂ.ﬂ
LIST PRaCE
(WiN PRCE
CATALDG, URL

SYS XMLTYPE
VAHCHARZ(3S)

NUMBER(S)
MDSYS. SDO_GEOMETRY]

You executed this UPDATE statement: UPDATE

( SELECT order_date, order_total, customer_id FROM orders) Set order_date = '22-mar-2007'

WHERE customer _id IN

(SELECT customer_id FROM customers

WHERE cust_last_name = 'Roberts' AND credit_limit = 600); Which statement is true regarding the execution?

A. It would not execute because a subquery cannot be used in the WHERE clause of an UPDATE statement.
B. It would not execute because two tables cannot be referenced in a single UPDATE statement.

C. It would execute and restrict modifications to the columns specified in the SELECT statement.

D. It would not execute because a SELECT statement cannot be used in place of a table name.

Answer: C

NEW QUESTION 179
You notice a performance change in your production Oracle 12c database. You want to know which change caused this performance difference.
Which method or feature should you use?

A. Compare Period ADDM report.

B. AWR Compare Period report.

C. Active Session History (ASH) report.

D. Taking a new snapshot and comparing it with a preserved snapshot.

Answer: B

NEW QUESTION 181
Examine the structure of the BOOKS_TRANSACTIONS table:

Name Null? Type
TRANSACTION ID NOT NULL VARCHARZ (6)
BORROWED DATE DATE

DUE DATE DATE

BOOK ID VARCHARZ (6)
MEMBER ID VARCHARZ (6)

You want to display the member IDs, due date, and late fee as $2 for all transactions. Which SQL statement must you execute?
A. SELECT member_id AS MEMBER_ID, due_date AS DUE_DATE, $2 AS LATE_FEE FROM BOOKS_TRANSACTIONS;

B. SELECT member_id 'MEMBER ID', due_date 'DUE DATE', '$2 AS LATE FEE' FROM BOOKS_TRANSACTIONS;

C. SELECT member_id AS "MEMBER ID", due_date AS "DUE DATE", '$2' AS "LATE FEE" FROM BOOKS_TRANSACTIONS;
D. SELECT member_id AS "MEMBER ID", due_date AS "DUE DATE", $2 AS "LATE FEE" FROM BOOKS_TRANSACTIONS;
Answer: C

NEW QUESTION 183

Which two statements are true regarding the WHERE and HAVING clauses in a SELECT statement? (Choose two.)

A. The WHERE and HAVING clauses can be used in the same statement only if they are applied to different columns in the table.

Your Partner of IT Exam visit - https://www.exambible.com



We recommend you to try the PREMIUM 1Z0-071 Dumps From Exambible
exam blb|@ https://www.exambible.com/1Z0-071-exam/ (187 Q&AS)

B. The aggregate functions and columns used in the HAVING clause must be specified in the SELECT list of the query.
C. The WHERE clause can be used to exclude rows after dividing them into groups.

D. The HAVING clause can be used with aggregate functions in subqueries.

E. The WHERE clause can be used to exclude rows before dividing them into groups.

Answer: CD

NEW QUESTION 187
Using the CUSTOMERS table, you need to generate a report that shows 50% of each credit amount in each income level. The report should NOT show any

repeated credit amounts in each income level.
Which query would give the required result?

A. SELECT cust_income_level || ‘|| cust_credit_limit * 0.50 AS “50% Credit Limit" FROM customers.
B. SELECT DISTINCT cust_income_level || * ' || cust_credit_limit * 0.50 AS “50% Credit Limit” FROM customers.

C. SELECT DISTINCT cust_income_level, DISTINCT cust_credit_limit * 0.50 AS “50% Credit Limit” FROM customers.
D. SELECT cust_income_level, DISTINCT cust_credit_limit * 0.50 AS “50% Credit Limit” FROM customers

Answer: B

NEW QUESTION 188
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